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1. Question No. 1 is compulsory.
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Answer any Four of the following:-
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Derive the condition for zero temperature drift biasi

Draw and explain negative clamper circuit.
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Compare CE BJT and CS FET amplifiers. -

Compare “L” and “C” filter.
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expression for ripple factor.

- and justify it.
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voltage amplifier.
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b) Define Transistor Biasing. State and compare various types of bias
Draw neat ¢
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N.B. (i) Question no. ONE is compulsory.
(i1) Attempt any FOUR questions out of the remmmngsmqyesﬁons -

(ii1) Figures to right indicate full marks.

Q.1 (a) Find the analytic function f(z) = u+1V1f3u\:1-2.v\=y2_x2 oxy &
(b) Find Laplace Transform Oft]et Slnt . 5
(c) Prove that adj.adj.(A)= [A|n1 A CASREE MO IR st :
(@) T8 L the Consigenay the.ﬁfbl._l.bv\.’i‘ﬁg.‘_'eCIuation_s and solve them if they 5

are consistant 2X =y +z=9;3X=y +256,4x~y+2z=7,-x +ty—-z=4

Q.2 (a) Find the Fourier Series to represent -f(x)_,_-% x? in (0, 2m) 6

(b) Prove that every Hermitian matrix A can be wrjtteh as B+1C where B is 6
real symmetric C is real skew symmetric - '

(¢) - Find Bilinear transformation which m'ap'S the points z=1,1,-1 ontothe 8
points w= i;0,-i

[TURN OVER
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Q.3 (a) Obtain the Fourier series of xcosx in (-7, n) IS

(b) Examine whether the vectors [3,1,1], [2,0.- 1] [42 1] arehnearly SO

dependent.If so find the relation between them. - \ A
(¢) Solve usmg Laplace Transorm (D2 +2D +5)y =¢! smt- when y(Q) ——___ 8
Q.4 (a) Obtain the expansion of f(x) = x (7 - x), in 0, ?r) as half’ range cosine 6
series. -
(b) Obtain the complé.x;. form of Fourier Series for:f(x'). = ¢ ®in (-7, ) 6
(©) SOSEATE : 2 3 4 5 8
Reduce the matrix to normal form and find its rank. (3 4 5 ¢
G A SRS o o 2 4 5 6 7
Q5 (a) Usmg Laplace tféfisfomﬂ evaluate - fowe‘t f;u cos® u du dt 6
~ Verify laplace equation for w=(r+ e ) cose also find v and f(z)
) e ' 8

'U.n,de_r~th¢_-_t1jansfo_rmf;1non W= oy find the image of straight line y=xXx

[TURN OVER
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Q.6 (a)

(b)

(c)

Q7 (a)

(b)

(c)

Q.P.Code:11577 .

2
Find inverse Laplace transform of tan“(;)

IfA==12 1 b | isorthogonal find a SRR (1
2 -2 ¢ T S

Find Fourier Cosine Integral prove thate"E:osx — oo<x ST

(0, 2m).Hence ,construct orthonormal set-of functions.

z.:‘:‘l\'\_::__-‘:’-.. h/\.[ '-f'-;\ , Ly - & s S =i
Show that the set of functions Lcoshx’;n=uT,23;5 o s orthogonal on

Find the orthogonal traj;:ctbrj ofthe famﬂy of curvesx3y —-xy’=c¢

For what value of ,k.;_"the follow_ih_g s'y_ste:'iﬁ of eqﬁations-possesses a non-
trivial solution ? Obtain the solution for real value of k.
3x+y-kz=0,4x-2y -3z =0,2kx+4y—kz o | SRS
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